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axb, B DF o, a FTLL b O R a
a+=b, XU O o, B aBR D OB b R a
at(b=c),% a i b, ¢ Z 2.
ax (b—e), 3 b, ¢ 2P a.
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[7) % 40 2.2 UL 45 B (Exponent) 3% 2.
e, /R ¢« ZHRH R X T
aRRa ZALHFB= XK.
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mab B ad i) axdb
a-(b—¢) g% a(h—c) B ax (b=c).
(a+b+c) (a=b=c) &) (a+b Lc) X (a=b=c).
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(e) [B] J8 3 25 5% 3L 8 Z 2x 3.1416 {5,

(f) 0] 165 K & R 4F % 7R 5 22 3.1416 f5.
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5 ¥ ;—;Q(Algebraic Expression).
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o # T RE AT K2 R H £ 5 R (Polyno-
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g a2—b2, a24+02 1 2ab, a%+b2—2ab, %5 3 % T i a2, 02,
2ab, 3% B A A
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(a) 2¢+ 5. (@) 92 +-4t4-2.

(b) 2¢24-3t. (e)7e2 48t +6.

() T2 4t4+2. (f) 143 4 51¢2 + 52¢+ 30,

B a=10,0=2 R T & X Z f&:

(a) a2+ 2ab +-b2, (d) (a=—0b) (a®+ ab+b2),
(6) a2—2ab4b2, (€) a3+ 3a2b43ab2 b3,

(c) (a+0)(a%2—ab+b2), (f) a® —3a?b+3ab2—b3,
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O gVIEFS =% (@) Hmy

(¢) %—42(49-{-&2) —cZ ) a-}-b +/ abs(s=c)-
(9) #/s(s=a) (s—5) (s—c)-
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9, f{t ﬁg( & 7 B (Algebraic Numbers).
ﬁﬁi&ﬁgaﬂtﬂﬁlbﬂﬁﬁéazbﬂﬁiﬁﬁn5i&3
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B I (Negative Numbers).
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11, I8 ¥} {4 (Absolute Value),

ARBEZHREFXERMARKRITZ,
R 78 E 48 & 18-

n+2 -2 BHEMEER %
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12, % R (Number System of Algebra).
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i (+6)—(+4)=+1, (+8)—(+58)=0, (+5)—(+6)=—1.
B W R IE B IE 2 G E AR,
3l & OH B 2 4B B R OEL I R D
4RMRERZEEVETEEF0T:

xl._‘||||1||n;||||11*|-||'X'

=9-8-7-6-5-4-3-2-1 0H14243+4+ 516474819
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+9, —9, +5, =5, +4, —4, +1, —1.
2. IE B2 A /b BB 2 68 8 46, R UG OE b
bt BB E
3. £ Bz A8 B K IR B2 AR B U A B ok R
UE IE #w?
4. — QB RN 8B A JE B B
KB A £ B e
13. & Y (Fuonction).
B J8 W T A £% 8 2 <00 R 6.2832 SHE & 3 )R
Ji B 94248 <F. 8B R OF BR
IE J5 T8 2Z T T B a5 0 B i B 2 PRI RS 4 O ok
wmE3STRIERA O F-h B8R E KA
AR RS RTTR R A = TR 8
BR B DLEC) B F () a8 2o
i (C=38.14164=/(d), A=s2=F(s).
& d=4, {} / (d) =12.5664 I s=4, {i] F (s) =16.
g =38 & G
RS () =42 WIS (1), f(12) 2 [ (19) 2Z i 55 35 P
ZS(e)=¢* RF (2), FG) BT (9) Z % H P
& A (2,y)=3++6y, B A (1,2)=¢
& A (2, y)=02+3y, Bl A (1,2)=?
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5. #&B(v,y)=32+6y—15, RIB (1,2)=?

6. #B (z,y)=0604+3y=12, /] B (1,2)=7?

2. B8O (ry)=eP—by B a3+ 9y2— 288 B ay—60, B R
€(6,4),0(6,9),C(10,6).

8. RBO(2y)=2+y2—25, i ¥k C(0,5),C(1,4.9), C(2,4.6),
C(34),C(4,3), C(41,2.9).

9, B Q(p)=p*+r, R Q0), A3 =12, Q(3) — 14,

10. B S()=(r+2)(r—3), RS(3),5(4), 5(5)
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+9+(-5=-1. X= X
-5
XEAS BT 4 BAZHES 1 BIEEXERE o
p
=0+ (+h=—1. X TG X
T
AT BEMATS RAZHES I BEXREE 0
+1
= :
(—4) + (+5)=+1. Fr g - X
-4
+5
B SR T OBOAE e SR o BB B 25

T G M W KB
BHMEMSE ZEBEZUHMERNEZE
1F %58 & %o 23 A BN A wk n Bi6 3 n 1E
W 5% A B0 A B AR i B X 5 T 2L A .
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(@) By BB B& 5 J 5% 10 JE ok 16 J.30 % Bt & 8 17
(0) Ji Bl 51 5 JE w% 10 J& 8% 15 Ji 30 fE 4% 3 TR
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2. HRBmEREEREESZT L0 E (), ()
ZEE M

3. FA_HBEKREMRBSERED®Z

4. MR 2Bz

@3 5 @)~ =
02, — (10,2, =1
P o n-i, %, -5
15, 3k 5 # Al
W 1B I Z 3.

f (+8)+(+4)=+9, W (+9)=(+4)=+06=(+9) +(—4).
(=8)+ (+4)==1, B (=1)=(+4)==b=(=1)+(—4).
(+9)+(—4)=+1, Bl (+1) = (—4)=+5=(+1) + (+4).
(=8)+(—")=—9, Bl (=9)—(—4)=—5=(=-9)+(+4).

BB — Bk 2 4l BB B b g 2 T N L.
BEMEHESFZLZZEHR ZEHHBIEEZER
;- -8
1F B ER B oW Fe 00 2 B R W EGR WE
B ok B/ B 2 2 AR B 1 S I ol BT i B A
B % W %0 22 R 2
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1. FRBMPERFEEN ZF 0L K EE MR
() 5 5 JE w10 J5& o 16 )i 3L J52 35 5 fol
(0) 2 B & [ w15 JE BR 15 J&, 36 J5 33 12
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2. ARBHEREERERTOERAZFTI
BRI 7 B (o), (0) Z % 3 2

3. k2 ZE R HE R 2L 2.

4. RRTH Xz

@, % (Flig - =
O -2, —1 ()10, (—_;‘)+(+§)
G, 5, =g (+—§-)+(—%)

(E8] ABAEE-RZEZBUE-RBER
e
O O
RUBEGTZEB X EEZHERBENGERET S B,
6 ¥ 4% BD 3K 47 30 B3 X o

(+5) x (+6)=+30.
X 455047 5 B, 0 B i €D > 75 47 30 8,590 T 5[ 45 30 1L 4
S X %

(—5) x (—6) = +30.
e[ B WO BB oK ik T O B 1 2 AR
i B A IE.
XMOEATZEHREEZHFRBERNERER 6
H,6 5 4 B ¥g 47 30 BLIC X%

(—58)x (+6)=-—30.
X4 Wy HAT O B, 6 BF BO B 40 W47 S0 B, 9 1 75 47 20 B 4%
SO E

(+5) x (—6)==—30,
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1. RFERZf:
(@ (+30) X (+3). (© (=30) X (+2).
) (+80) x (+-5)- (N(=30) x (+-5.
(@) (+30) x (—5)- (9) (—80) x (=1,
@ (+30)x (=) ()(~30)x (—p)

2. EKEEH LG H I o

(@ 8 HRZHKIEMEA H & IEH M
@ 8 AW ZHIME B4 B HIEE M

3. EHWEHNT WS HET L 5N

(@) 8 HERZSMIMEE 4 B B 1K 3 f?
() 8 B Wiz SR B A H &K K e
4. BRao=+08 =5 Ra? 2?24, 20 Z .
17, B & # AL
B 28 o 2 .
fn (45) x (+6)=+430, R (+30) +(+6)=+5.
(+5) x (—6)=—30, Hj (=30)+(~-6)=+5.
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(=B) x (+6)=—30, H (—30)+(+6)=—5.
(=5) % (—6)=+30, jlj (+30)+(—6)=—5.
B[] P M BRaBD R IE Z BB BHE Z
Rk B A IE: 38 M B 2 oA BR.BD K ok = e
HEZEmEESE
IE 9Bk B Bk T R
[EF] FREFTEATRIASEE®R

5 M B & D

1. RTERZM:
(@) (+5) + (+5)- (¢)(—=30) +(+6).
(8) (=5) +(+5)- (/) (=5)+(=B).
(@) (+5)+ (=) (9) (—30) +L(+86) (—5) .
(@ (=5) +(—5)- (1) (+30)+L(—=5) (+86)-

2, FHLBZEA LA AR 2EN
(@) B ZKE B4 B & KF e
G) e B ZSRE B4 B KM
S. FEREEBTHS HET 2 KN
@B B ZHRBEA B HIESE M
@)W B ZHBE A 0 HEEM?
4 B K VT B 8 R0 R R BEER B R BER 8L
38 0 B30 O A B WU G R 2
5. 7R Bk R k7 B3 — 2 0 R AR 2 R R I



